Triumph

North American Product Guide




CDS

Stainless Steel
Sinks

e  18GA.304S/S sink

e  Corner drain with 1.5" drain basket

e 12" overflow pipe and 18GA.304S/S swirl guard
included

e 16GA.galvanized leg and socket with U shape

leg-bracing, plastic bullet feet

Model Width Length Height Weight (KGs)
CDS1C182114-318 19 %" 35” 43 % 7.85
CDS2C182114-318 26 %" 23" 43 %" 12.95
CDS3C101410-318 26 %" 417 43 % 22.70

CDS3C182114-18L-318 26 %" 59 43 % 32.45
CDS3C182114-18R-318 26 %" 74 %" 43 9% 33.30

CDS3C182114-318 262" 74" 43 % 33.30




Stainless Steel
S

inks Cont.

CDS1C182114-318 CDS2C182114-318
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